EARAROBREBRT —5 XN—ZXBISH—F

2023538238 (A 21EEH3H

‘9""97*0 MEEENER 1AL 3 USR3IF BN R
[xE&] 15 :360,000H  23%&:108,000H  3#&:54,000H  43%&:36,000MH  53&:18,000H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N RES . 11 _ Gt
111111 7—=9vo0z #3 | BaRZ 1.(3_1).9 1-1-1-1 | 40.6 2 (4_9;) ﬂﬂ%gﬁ( 1)
RIVZIVATFa=IL &:F7%T REBT 7 —Ln
< BR : -5-2- - HOEE (%
U9 # 3 | (11312/22) 5-52-2 | 40.1 3 (4+5(3 %EE*U (SH)
Rir—r75v1 #8:R/—K—ROTY BATRGESEEEE RS
SR R : —4-4- — S (A
R—FTPASVR 4t 3 5:%%1*3 1(.13/22.)3 4-4-4-3 | 40.3 1 (4—41(; Egﬁé% (554
RiW—=5—vvF B:E—2FT5Y FoIEFIRXT7—L
o _ - £ . _9_2_ — s E/\
TS5AKNISwvYa 3| M 1.(343).2 2-2-3-5 | 41.6 5 3(;)7 ;ﬁ%{éﬁ% (&)
R:F4RIU—bFrvyh §:T0-RE—T R4S
= : -3-5-. - HIEA (S
r—O—TJT— # 3 5!%{ 1(.13/32.)3 3-3-5-4 | 41.5 6 :1;15 Eﬁﬁ%x (G2
RiXAY3avY LYY B:AURT HARUNOZ7—LA
3 N STEIE : ~6-6- _ % \
61505 HB/TFINA— 4 3 ES4§BI§ (153?:?3;) 6-6-6-6 | 42.1 4 (4+119) gﬁéﬁf_ﬁgﬁ (8H)
RiR)—Y B:YVILI—F w\AR —Al
@ 11— —BRIEfL
13—3F— |[1.3,6,2,4,5
20—F— 1,3,6,2,4,5
BEIES /S 1,4,3,2,6,5
40—7F— 1,4,2,6,3,5
0 ILRE
BB 1 260/ JA R 1-4 1809 B E 1-4 810 3ER 1-2-4 200
B B 1 170H 1-2 1004 o= 1-4 1,040 3Es 1-4-2 2,120
4 330 2-4 1609

ABIC OV TRUTEREERRODDZE. THRIIZEL.




